1Ag9n19

o < = Y ‘ o a o
FATTZULILATAILIST LANTA ‘W@‘]_lﬁ\gﬁégﬁ\l AU 1,000 NUN

da &
AN UNRR ,
wwAneF A ey e swtse s

“Tore



E.

]
k5
|
©

-
e
t
¥
2 :
| ;E 1

JJ
3
%
%
:
%

ey B T i} s

M‘
e et [ Theee [N [l o

&
N
/
N
<]
>
@ |
&

| o e g i oo |
¥

i 9 < —
i i
| |
| |
- e e . )
e
o =
l—f7> LUUsEUvUUFuaInig g
uwmradu 1:100
- 5 > N
= M-N»AW—‘;&T m\//)
Trams : emlln - Wnnlareain : Amvi mmvlea : RPN remmudly : (LT
Spfrinwdealiuemmelep dum 1,000 fie - e »~ Mot dutl 1 |
L Tongmine : Smuan - fuf : 20 r,w'lb“{u AR-01
P - W ——— WQ/ AR08




©)

7000
100 (Y] a%o i 800 [Y] 800 : 800 an0 i L 400
4 800 il 300 im i I.L I (%] L] } lL I [~ ] 300 4 500 L
| I I | | | |
T
1 - §
& = — =0 &) ®
10310° 18410° 26010
18aic Tax10
FAG.4B'x 14" Wilhs.
14x10" 141y 14x10" 14
&3 ®
y FAG.4R"14"Wins.
Fan Filier Uniis.
% o — 2918 e 2018 o 2008 i P i
100" 32%18" 1cx10
16°x10" 16°%10°
W wxwr
A WICWAD WA DLWWD LD DLIEWND YCO MLIYAD QI DUICWAD SO DLICEAD LD DLICEAD "H.IME; _@
“exie 1631 %10 110
' 010" 10°x10" ' . L10" 10°%10° . . 10°x10" 10°10" . . 1C7x107 107107 . ' 10°%10" 10"x10" ‘ ' W0x10" 10°%10" ‘ b
PR DLITYAD S0 DLIEWND 0 IR SC0 MY/ SID LITVND D LT SERD DLICWAD S0 DRIV PO MLISYAD SO0 MLICTND D BLICYAD SO0 DLICNAD
o PAID MLITEAD CID DLITEAD BRUD DLITVAD BRI DLIOV/D A DLW 0D DLICNAD SEID DLW SO LITEAS D OLITVAD QD DLISYAD 0 DLW 6 NI =
10°x10" 10°x1C" 1C°x10" 1010 %107 10°x10° 1C° 210" 10"x10" 107x107 10"10" 0107 0"x10"
.‘*—(—‘0 or——0 o——" -0 &————0 &———0 o— .9 9
w0
V650 DLITVAD S0 DLICWAD SRR DLW @
10107 10°x10"
16°10" 10°x10°
10 1nor
260 LIV se0 ouwwppore | e SGIODMLSYAD SR DUIEYD
L G 7
%2240 %2452, %.:245%,:4 I\
o ®
FAG.48"(14"Wiks. = e e oig bl il = FAGAB'X14"V//lns.
Fan Fiker Units
(T h {T) (T [am? {1\ Fam ! 3 s an® Ik )
T F A 7 Pl T o7 [Pl ) & T { = 4 @
|
!
i i
| |
| |
\ )
s i G s e e s 5 s S s o e i i e —
|
! [
Y
LULUNBaNTEUULUFua N A Fu
-« Lo L U
i
Tnvama somifin : Wl : m'aivh Swnmvfean : mevwy remmuly wnus :
£k rfeaBummemerrrq dma 1,000 file - ut
.
: AR-01
e fmnqnhne : fufl : 20 nurmitud
snirmeniurvafipindini Inensuwsewiou
AIR-08




—

—_—

™ =
.- I ru] n ru - ——— === — - [ n- T
" e s s gy L G} prs
1
) /V\ Faa? /V\ m /V\ Pan) /V\ el T /V\ T /V\ ITh /V\ Fan] 3
f s gy us) " Lt o =)
EAG.12°x12" Wins.
n
n J ExE"
;I = g d
- Rkl j ermEeve EAG. w12 WD EAG.12°¥12° WD EAG.12'%12° WAD EAGAZ'%1Z WD EAG.12'x12 WD EAGAZX1Z' WD EAG.12%12° WD) EAG.12x12' WD EAG.12°12" WD EAG.1212' WD EAGAZX12" VIND
[] = e 10°%8" ,10'!5' ,W‘)b‘ ,W'KB' ’D”x{ IU‘KB! 10’!?! IO'AE‘T 1U‘x£* 13'!5! EAGASCD, WD,
— . T 4-5CD,10x10° WD,
BB BRT WV 20010 24510 20510 TEa10” 12510 06" EAG.1Z'%1Z WD, 10750 20 610 26010 W0 .
§SET. (] . 6SET.
i 13 SET.
oy 1] EF-1-13 9
66" n 2400 CT
EAGH"x8" Wins. I
araies
N
oo
EAGE"x8" Wiins. e
: By
= ~L
EAG.AZ12" Wins hl
u! Tk Farn! (e (T} fan? fan? Feu)
- AV.V4 ' AV.V4 i NN i AV, V4 ' AV V4 ' V.4 - -

* T

AIR-08

— £, ) —& [ 7} ) & @ (T @ £, é? = ®
|
i i
| |
| |
o e )
— LU EULTESUNYDINIA &
w MU 11100
L A< N
nrams emiin Wnnslaresin : wamvidh wnmutews : mevmany remmurla KU {
Sferinudealuenmymeeq dm 1,000 file . o w fufl 1 ’
A
e Wmnegmhne : Sy WI:EMM AR-o1




DETAIL



TYPICAL 91%32UUUSUBINFLEZ IS U8 INTA

CEILING CONCEALED DUCT TYPE INSTALLATION

CONDENSING UNIT INSTALLATION

ELECTRICAL CONDUIT
—_— DROP-IN ANCHOR (33/8"

CDhU

LMW )

©
STEEL ROD.03/8"

NUT & WASHER.@3/8"

LNTBNATE

=] £

EXPANSION BOLT.@3/8"

—— SUPPORT wiangwlifiounan 25 em

TR ORI

N

DROP IN BOLT @3/8" ==

STEEL ROD.Q@3/8"

NUT & WASHER.©3/8"

EXPANSION BOLT.@3/8"
mAauiiAiin SUPPORT

1

HNIBLATE

SUPPORT wianglifiauna 25 cm

l

T R R

REFRIGERANT PIPING CONDUIT & SUPPORT HANGER DETAIL (VRF)

REFRIGERANT PIPE

STEEL ANCH OR @ 3/8" /— STEEL ANCHOR @ 3/8"

1
0 . N L3, Wi T " ST 5 ° i P o
- &0 CONDRETE §';6,?rf-_:.'_ b £y RONCRETE SUB. o et
ROD @ 3/8" BHHE CLAMP | ELECTRIC CONDUIT
PVC PVC J L— LIQUID LINE
v ROD © 3/8"=——— [~ SUCSION LINE
7 PVC
PIPE CLAMPS l— INSULATION = REERIGERANT BIPE INSULATION @3/4"
gs/r C-CHANNELS C-CHANNELS

ELECTRIC CONDUIT

"—— LIQUID LINE
SUCSION LINE
F 1 r_

SUCSION LINE

LIQUID LINE —|
SUCSION LINE _]

DRAIN PIPE
"vEXF’ANSION BOLT
£ ESE T

i NUT & HER®NON-CORROSIVE)

STEEL ANCHOR @3/8"
,'..f’:'.'.'"‘_:ﬁ-';_wy.s(y_‘_{'/‘.-'.i_? ., .' T
R DRAIN PIPE
PVC
C-CHANNELS
PIPE CLAMPS C-CHANNELS C-CHANNELS

SUCSION LINE .

LIQUID LINE IPE CLAMPS PIPE CLAMPB

ELECTRIC CONDUIT PVC PVC

INSULATION|@3/4" INSULATIQN @3/4"
WALL
A
v ﬁ
ok
Pe— \ % %
ey emiin Wonlretin el twnvfewe : mevaan sty L
iy
Sferrinvdealuenvmmbzg dum 1,000 file rrumzabemaiodls 1
> AR-01
e mm : Senanny Sufl : 20 W
smAvediurfipiedinl Inensuwseanu
[ T AR—-08
(%



TYPICAL 91%32UUUSUNIALAZ IS UIEBINF

MINISIROCCO FAN INSTALLATION

CENTRIFUGAL FAN.(DIRECT DRIVE)

PROPELLER FAN (SMALL SIZE)

EXPANSION BOLT

STEEL ROD 0.3/8" S— .

FLEXIBLE
CONNECTOR

AIR FLOW
=

EXPANSION BOLT

FLEXIBLE
CONNECTOR

EXPANSION BOLT—\

ninauemd N\

FLEXIBLE CONNECTION

HANGER ROD GALVANIZED

FLANGE CONNECTION OR PAINTED (SEE SPEC.)

AUTOMATIC ~—
SHUTTER )

TO DISCHARGE GRILLE

AS SHOWN
. -
ON PLAN

’ﬂ
[\

NN

el

—

SUCTION SIDE AIR DUCT

C-CHANNEL [ —l

_J MOUNTING FRAME

- WALL
HARD WOOD FRAME
RECEPTACLE ( BY OTHER )
=
FAN HOUSING

I
| ot

|

a

FAN IMPELLER

CIRCULATION FAN (CCF)

FAN FILTER UNIT (FFU)

1600

%

FILTER HOUSING

FOR FLOW RATE 4,250 CMH (2,500 CFI)
MATERIAL: GI 2 mm, SINGLE SKIN C/W POWDER COAT

AIR INLET ol g ‘ } }EIE 2 SIZE (WxHxD) : 850x,150x1,600 mm.
CEILING / PRESSURE GAUGE ;
| n PRESSURE CAUGE FOR MEDIUM FILTER : 2000-500 PA : 1 EA.
PRESSURE GAUGE FOR HEPA FILTER : 2000-750 PA : 1 EA.
FILTER SEQUENCE
'] 157+ PRE-FILTER, (G4)
NOMINAL SIZE (WxHxD) - 24" x 24" x 2" - 1 EA,
“ TOP VIEW NOMINAL SIZE (WxHxD) : 12" x 24" x 2" : 1 EA.
&0 _ FRAME: BEVERAGE BOARD / NONE HEADER
i 1600 , 750 2" MEDIUM-FILTER, (F8)
f } NOMINAL SIZE (WxHXD) : 24" x 24" x 4" 1 EA,
3 ; NOMINAL SIZE (WxH¥D) : 12" x 24" x 4" - 1 EA.
R FRAME : BEVERAGE BOARD / NONE HEADER
: /% : F0: UVLAMP 20 WATT : 2 EA,
= = g Z 4™ HEPAFILTER, (H14)
8 - JE[; 20| 8| s NOMINAL SIZE (WxHD) : 22" x 24" x 11.5": 1 EA,
AR INLET = | o 0 T NOMINAL SIZE (WxHD} : 22" x 12" x 115" : 1 EA.
E—— g : //// s _ FRAME : GALVANIZED STEEL / NONE HEADER
N 5™ FAN
] Zore s TYPE : CENTRIFUGAL FAN
T . ol STATIC PRESSURE : 1,000 PA
_ oo _ BRAND : ZEIHL ABEGG
VIEW | / b
SIDE_VIEW FRONT VIEW AUTOR
SPEED ADJUST ABLE : 0-100% —
e
| &
tarams : wonlowin : Aantlvbh fmmvtewa : Reven emunls : W
Hufl
ok doal ¢ 11000 e iy e 2
: AR-01
A Wenrgrine : Sy Sufl : 20 qurmiud 2588
swPmedurvalipledinl Inensnseinu
sneimendisevefigBedini wwedy p ARR-08

>



TYPICAL $1naanszuuUIua1n1ALazseunea1n1d a1vsu #adnaly (PID Duct Brand FIRST DUCT or PAL)

DUCT SIDE MEASUREMENT (i PID REINFORCEMENT SYSTEM PID REINFORCEMENT AND SMALL TAKEDEE
(in.) (Brand FIRST DUCT or PAL) BOOMERANG SYSTEM (Brand FIRST DUCT or PAL)
Exter
GLUE Sealant
Duct side Measurement (in.) <> \[] l]
5
. ] 6 ) Pressure = Clean Air ~ lr \ Tiger
SOF 1216 20 24 2 32 36 40 4 48 52 56 60 64 68 T2 76 80 Positive and Negalive DUCT SIZE 82"-100"
I;z'; i\ ey o m:': Shape Disk for /"\
W ,é... i 100 il it o iz Inecand Ouler MALE-FEMALE CONNECTON
~ L e N i [eop N s ’;
g - N D2
i o z:« S B8
S sw . ] \\\ @
2 0 Yloiikibofim 2
E ‘jz_: L \\ C \ :f E Branch Duct
20 08
0 \ ‘ 00 ~
G0 200 by O SE el 00 Su 0 luse 100 13 160 L4 1300 1800 1700 1RO 19w oud
DUCT SIZE 62"-80" o
Duct side Measurement (mm.) N o
Stud @1/2 \6‘{"
REINFORCEMENT CHARD N
DUCT DIMENTION REINFOR(?EM,ENT BOOMERANG
/1.2MMay
40" - 60" 1 8
62" - 80" 2 8
82" - 100" 3 8 DUCT SIZE 40"-60"
PVC FLANGE & BAYONET CONNECTION
DUCT SUPPORT DETAIL 1 DUCT SUPPORT DETAIL 2
FOR PID DUCT SIZE > 300 mm.
0)
Standard
/\ /\ Flange
Stud— ' ' 3
///i SHe= ///i PVC BAYONET
e
// Steel Support // C-line
Hanger Spacing Hanger Spacing
PID DUCT PID DUCT Support Rod-Hanger |@Long Supporl PID DUCT PID DUCT Support Rod-Hanger |@Long Support
DIF[}ISQ)SIOH (THK.mm) to Support Dimen)smn (THK.mm) to Support W+15mm.
(IN
28" or Less 20mm. 1" 1/4" 2m. 4" or 12" 10mm. or 20mm. C-LINE 1/4" 1.5m.
30" - 60" 20mm. 114" 3/8" 1.5m. C_r /b
62" - 100" 20mm 11/2" 3/8" 1.2m.
¢_, H’/D\sq(/ o
e : emiin Whnelarein Arnslvvh fmmvtewa : AT remeufly Ry
Sfesrinudealue ez 4 1,000 fife o . T
e Wnqnhne : Sy Sufl : 20 qumftud 2ses \ AR=o1
swimenfumalipiedinl Irenswseesuy . ’\e\ i




TYPICAL s %haanszuuUsueInALasszu18e1n1A §1v5u Bednily (PID Duct Brand FIRST DUCT or PAL)

TYPICAL BRANCH TAKE-OFF
MACHINE CONNECTION

BRANCH & SPLITTER DAMPER

WITH SPLITTER DAMPER
Rubber Insulator

Canvas
Detail : B s
=== Detail : A LRDCT

Detail : B Defail : A Air flow.
Detail : B Screw
Bush Damper, Screw

=l sheet
Bush Dal w
-

(=]
-

Screw

Detail : B

Detail : A

AR R .
i A——1—8RANCE DUCT
52024111 GRILLE PID DUCT _
o Flexible Duct
=

el 60 cm.
Hansnan ‘ \ Screw

TYPICAL BRANCH TAKE-OFF
WITH SPLITTER DAMPER

INSTALLATION DUCT INSTALLATION DUCT COLLAR CONNECTION

PID DUCT

e

JUTHLTI

]

Y L ——

\
——

: =

Ol )

£ I =
— gl - Front View
=il E o —
£ ¥ = PID DUGT
/ A\ I_ 2 Aty %
w : : EScrew 1 Swew# i \ /S8 pyc o Gaanize Washer
; ’ T GALVANIZED Top View

e somifin : Wonslmesin : wnrivh mveae mrowan sl i :
Sferriusdealivenmmersq 4 1,000 e T smamBmanmeiafic 4
e Wungnine : S hl:z:qumlulau! MR-t
wmendi j Imeresneesieu
umalipiedial wardu AR-08




